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A, = Acos 64
Ay = Asin 0,
B, = Bcos 6,
B, = Bsin 0,

C, = Acos 64 + Bcos 0,
Cy, = Asin 6, + Bsin 0,

C=A+B=\/C,§+C§

\ 61

4 Cy = Asin 6; + Bsin 6,

:Ax

‘l?y B
7]
* B,
C=A+B
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C, = Acos 64 + Bcos 0,
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Ay + By, A,+B,ER& &
(1) (2) (3)

Ay + B, = A, + B, = A, + B, =
Ay+By= Ay+By= Ay-|-By=
Ya Ya Ya
A=8
A=5
30 R g 30 R
0 Y x B=3V2 A=3V2 0 g
B=5
135°/% B =42
ol 45° x
A, + B, = A, + B, = A, + B, =
Ans. A, +B, = Ans. A, +B, = Ans. 4, +B, =

Copy right © BERESTLELD S5



RE MR | (RE

Ay + By, A,+B, R &

(1)
Ay + By = Acos 30° + Bcos(—30")
Vi3
V3

=5X7+5X7=5

Ay + B, = Asin 30" + Bsin(—30")

—5><1+5>< L =0
— > > )=

yﬂ
A=5
/4 Ay + B, -
0 —30° g Tx
B=5
A, + B, =5V3

Ans. A,+B,=0

(2)

A, + B, = Acos 45" + Bcos 135°

1 1
=3ﬁxﬁ+3ﬁx<_ﬁ)
=0

Ay + B, = Asin 45 + Bsin135°

1 1
=3V2x—=+3V2x—==6
V2 V2

yﬂ

0! 45 b

A +B,=0
Ans. A,+B,=6
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Ay + B, = Acos 30" + Bcos(—45")
V3 1
=8x—+4V2x—==10V3
2 V2
=4V3+4

Ay, + B, = Asin 30" + Bsin(—45")

1 1
=8x—+4x/§><<——>=o
2 V2

yﬂ
A=8
30° Ax‘+Bx -
0 —45° x
B =42

A, + B, =4V/3+ 4
Ans. A, +B, =0
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Let me inject
Energy to youl,

A+B&$m;

(1) (2) (3)
Ax+Bx= Ax+Bx= Bx=
A, +B, = B, =
A, +B, =
A+B = Ay +B, =
A, +B, =
A+ B =
A+ B =
Ay =6 A
A
B, =3 :
Y B A, =3 i B, B=s By =2 B =2V10
Ay=2 A
I/:Ax=4 B, =3 > A, =5 > B, =4 Ay =2 > B,
Ans. A+B = Ans. A+B = Ans. A+B =
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RE k2 (R

A+B&tm;
(1) (2) (3)
Ay+B, =4+3=7 Ay+B,=5+4=9
x o x o Bx=\/(2m) —22=+40-4
ytBy=2+3=5 B, = /52 — 42 = v/25 — 16 V36 =6
=+/9 =3
A+ B =+72+52 A, +B,=2+6=8
=49 + 25 =74 Ay+B,=3+3=6
A, +B,=6+2=8
A+ B =492 + 62
A+B =+82+82
=+V81+ 36 =V117 )
=9 x 13 = 3V13 =82 x2=8V2
Ay =6 A
B, =3
Y B A, =3 i B, B=s By =2 B =2V10
Ay =2 i
I/:Ax=4 B, =3 >4, =5 > B, = 4 Ay=2 > B,
Ans. A+B =474 Ans. A+B =313 ANns. A+B=8V2
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Let me inject
Energy to youl,

Aﬁm&ﬁ ﬂ&+&wx**%kmi
(1) (2) (3)

Q, = 5var
Qq = 3var S,

| V b . : ) I/v :
Z P, = 4W > P —6W ZP1=4W > P, = 8W > P, = 10W » P, =6W

h =

Qq = 4var Q, = 4var Q, = 6var

Ans. 151+ S| = Ans. 1$1+ S| = Ans. [S1+ S| =
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fRE A3 (AR

Let me inject
Energy to youl,

Aﬁm&ﬁ ﬂ&+%wx
(1)

Q; = 4var Q2 = 4var

Z Py = 4W VP—6W

P12=P1+P2=4+6=10
Q12=0,+0,=4+4=8

1S, +S,| = /sz + Q% =102 + 82 = 164
= 2v/41

Ans. |S; + S,| = 2v41VA

TERDL,
(2)

Q, = 6var

L.

P12=P1+P2=4+8=12
Qi2=0:+0Q,=3+6=9

|S; + S5 = /P12+Q12 V122 492

=+/81 + 144 =225 =+/152 =15

Qq = 3var

Z P, = 4W

Ans. 1S1+S;| =15VA

(3)

Q, = 5var
Qq = 3var S,

4
N
[
)
=

P12=P1+P2=10+6=16
Qi2=0:+0Q,=3+5=8

S$1+S, = /sz +Qf, =+/16% 482

=8/1+22=28V5

Ans. |S; +S,| = 8V5VA
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i
Let me inject
Energy to youl,

Aﬁm&ﬁ ﬂ&+&wx**%kmi

(1) (2) (3) 51=2\/§VA Sz=3\/EVA
S, = 10VA S, = V5VA A
S; = 5VA R _ VSVA 4
Lé: %2
6,
6> 1 6, = 45
6 — = 2 >
c0591=§ st \/§ cos 0 \5 i’
cos92=§
Ans. 151+ S| = Ans. 151+ S| = Ans. 1S1+ S| =
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Aﬁm&ﬁ ﬂ&+&wx5$ RD&,

(1) (2) (3) 51=2\/§VA 52=3\/EVA
S, = 10VA S, = V5VA A
S1=5VA A S = V5VA 1
‘491 0,
6,
02 2 1 9, = 45°
COSBlz_ cos 6, = — 2 >
c0591=§ V5 275
3
cost—g
91=92& ” — 1 =
|S; + S, =5+10 =15 Pl_SlCOSBl_\/_ - PI_SICOSHI_Z\/_ \/E_Z

1
=S, sinf; =2V2-
Q; = S; sinB; = §;/1 — cos?6; = \/_ji Q1 = Sy sin 6, -
1
=5- 1——=\/§- —=\/§-_:1 P2=52c0592=3\/§.\/_§=3
> 5 V5 ;

1 Q2=stin92=3\/§-ﬁ=3
P2=52COSHZ=\/§‘_=1
V5 151+ 551 = (2 +3)2 + (2 + 3)2 = /52 + 52
2 1 21 — -
Qz=5251n92=\/§‘ﬁ=2 =V25+2 =\/%=5\/E

1S+ 8,1 =@+ D2+ (1 +2)2 =+/32 + 32
=v9+9=+18 =32

Ans. [S1+ S, =15VA Ans. |S; +S,] =3V2VA Ans. |S; +S,| =5V2 VA
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Let me inject
Energy to youl,

Aﬁﬁa)’ﬁx‘b 7?P1+P2 7(~\£'5K&’)J:o

(1) (2) S;=4VVA  (3)
S, = 5VA S, =V10VA A
S, = 10VA S1 = 2V5VA S, = 2VA
4 A 2=
‘ 16 ‘ ﬁe
1 P, 1 P,
91 92
2 92 : P1 PZ
cosf; =¢ cos 0, = — P,
5 0, 5 3 1
» P cos 9, = — cos 0, = —
’ T 2
cos 6 —i cos 0,
275

Ans. [P+ P, = Ans. [P+ P = Ans. [Py + P, =
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Af&ﬂ)’ﬁx‘b 7bP1+P20)1("E eRDH&L,

S, = 4V2VA (3)

(1) (2)
S, =V10VA A
S, =5VA 1 _
1 S, = 10VA S1 = 2V5VA S, = 2VA
A A
‘i 01 ‘d 61
Py Py o 0,
02 > P, P,
4 _ 2 P,
cos@l—g , C0591—ﬁ 3 P 1
> P, c0591=\/—_ C0s 0> 2
P 4 cosf, == 10
cos 2<%

4 = 2 3 6 62
P1=51C0591=5'§=4' P1=51C0591= 10\/_§=2\/E P1=51C0591=2\/_ —1():5:—2 :3\/5
Py =S, cosb, =10 = =8 _ NS 1 NG
2 =5, 088, =10 = Py =S, 06y = 42 -5 = 22 P, =5, cos0, =2~ =2. Y23

V2 2
Pitpp=4+8=12 Py + Py = 2V2 +2V2 = 42
1 2 1+ 2 \/_ \/_ \/_ P1+P2=3\/§+\/5=4\/5
Ans. |PL+ P =12W Ans. [P+ P, =4V2 W Ans. P+ Pyl =4V2 W
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